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3C-SIC

CVD
(100) n-type Si
1175 11
HCI : 63.1 sccm H,: 1.5 sIm
1350 3
CsHg : 1 scecm H2 :1slm
3C-SIC 1350
SI,(CH3)s : 0.5 sccm H2 @ 2.5 sIm
4.3u m/h
Si )
UM 1o ppm 32 um
5x5 mm2
5 kG

85 K~500K
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H 2(T1 Eref ) ° H (T1 Eref)

H2(T, -0.01) [x10°" cm eV 4]
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Np[cm 7] 47 10° | 1.0 10"
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. Experimantal data
. Simulated result
DE,,= 14 meV
- Np; =4.7x10%° cm?®
DE,= 54 meV
i Np, = 8.1x10° cm®
DE,:=120 meV
Nps =1.0x10Y cm®
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) 8 16 32
DEp{[meV ] 10 7 14
Npq[” 10%8cm™ 3 11 8.1 4.7
DEp,[meV ] 46 46 54
Npo[ 10¥°em=3)| 17 20 8.1
DEp3[meV ] 107 97 120
Nps[’ 10 cm™ 3] 11 13 10
NA[ 102 cm™ 3 1.3 0.99 0.57

50 meV 15 meV
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Si, CH3 ¢ CVD
undoped 3C-SIC

H(T1Eref)o

10 meV 50 meV 110 meV

a. 10 meV

b. 50 meV
32U M

c. 110 meV

n 3C-SiIC 1



